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1 (@ Give meaning and definition of Financial Management 15
and discuss traditional approach and modern approach
comparatively.

(b) Write a note ; Importance of Financial Management. 5

OR
1 (@) Discuss in detail profit V/s wealth maximisation. 12
(b) Describe functions of financial management. 8

2  (a) One company issued 20,000 15% debentures not 20
repayable of Rs. 100 each for which underwriting
commission 1.5% brokerage 0.5% and other expenses
Rs. 20,000 were paid if tax rate is 50% then find cost
of debenture in following circumstances
(1) If issued at par
(2) 1If issued at 10% discount,

(3) If issued at 10% premium.

(b) Find out book value and market value for A company
Litd. as per Weighted Average Cost of Capital (WACOC)
from the following information.

Source of Cost Book value | Market value | Cost of capital
(Rs.) (Rs.)
Equity capital 16,00,000 23,00,000 16
Preference capital 6,00,000 6,48,000 8
Debentures 10,00,000 9,562,000 7
Retained Harning 400,000 5,00,000 9
OR
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7 The condensed Balance-shieet of tThe Mohii {.td: as oo~
31-3-13 is as under :
Liabilities Amt. (Rs.) | Assets Amt. (Rs.)
Equity share eapital Fixed Assects
Rs. 10 each) 2,80,000 at cost 8,00,000
Reserves 1,20,000 1 — Accumulated
10% preflerence share deprecialion 3.20,000
capital (Rs. 100 each) 80,000 4,80,000
14% debentures Current Assels 4,430,000
(Rs. 100 each) 3,20,000
Current Liabilities 1,20,000
9,20,000 9,20,000
Additional Information :
(1) The cost of equity capital is 16% and cost of reserves
is 1% less than the cost of equity capital.
(2) The applicable tax rate is 60%
3) The average market prices are as under :
@) Equity shares Rs. 16
(i) Preference shares Rs. 70
(i) Debentures Rs. 80
Calculate the following :
(1) Weighted average cost of capital under the book value
weights.
(2) Weighted average cost of capital under market value
weights.

3 (2 Param Ltd. and Atma Ltd. both companies belong 20

to the homogeneous risk group. Both companies are
identical in all rescept except that Param Ltd. is a
levered company while Atma Ltd. is an unlevered
company. The capital structure of levered company has
10% debentures of Rs. 3,00,000.
Total Assets of both the companies are Rs. 10,00,000.
The rate of return before interest and taxes on capital
employed of both the companies are 15%. Assuming that
the capital market is perfect and investor behave
rationally. Tax rate is 50% and the rate of equity
capitalization is 15%, calculate.
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(b)

(Iy The value of bHoth the companies on the basis of

Net Income approach.

(Z) The value of both the companies on the basis of
Net operating Income approach.

The operating Income of Hasikhushi Ltd. is Rs. 32,000
and the capitalization rate is 25%. The company issues
12% debentures for Rs. 1,00,000 give the answer of the
following.

(1) Value of company and value of equity
(2) Cost of capital of the company

For giving the answer of above questions which approach
will be considered ? Why ?

OR
3  Company A and B are identical in all respects except that 20
there is no leverage in company A and there is leverage in
company B which has 10% debentures of Rs. 4,00,000. The
market value of both of these companies according to next
Income approach is as under :
Detail Company 'A' { Company 'B’
Net operating income 1,20,000 1,20,000
— Interest on debenture - 460.000
Net Income for equity holders 1,20,000 80,000
Equity capitalization rate 15% 16%
Market value of equity capital 8,00,000 5,00,000
Market value of debt . 4.00.000
Overall value of the company 8,00,000 9,00,060
@)  An Investor holds 10% of equity shares of company B.
How can he reduce his outlay through the use of
personal leaverage ?
(@) When will his arbitrage come to an end according to
m.m. approach ?
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4 Following information related to three company = 2007

Particulars X Ltd. Y Ltd. 7 Ltd.
Rate of return 15% 5% 10%
Cost of capital 10% 10% 10%
Earning per share Rs. 8 Rs. 8 Rs. 8
Face value per share Rs. 100 Rs. 100 Rs. 100

If dividend pay out ratio is 0%, 50%, 75% and 100% than
find out value per share as per walter model.

OR

4 (a) Following information is available for Surya Co. Ltd. 20
Earning per share Rs. 10
Rate of Capitalisation is 10%
Dividend per share Rs. 8

If the rate of return is 10%, 12%, 14%, 16% and 18%
what will be the market value of share as per walter
approach ?

®) Internal rate of return of Sun Co. Ltd. is 25% cost of
capital of the company is 20% earning per share is Rs.
10 Find out the market value of the share if the
company pays dividend at the rate of 10%, 30%, 50%,
70% and 80% as per gorden's approach.

5  What is working capital ? Discuss factors determine 20
the requirement of working capital.
OR
5  Write note : Working capital in detail. 20
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